1 AOBERE
(1) EH(T2-1)

(£ AR 284F)
B 4 A O(108181]#) H & %
B #® B 3 w 5B T
£ B | 126,932,772 61,765,503 65,167,269 976,978 501,880 475,098
s B R 2,022,785 979,886 1,042,899 14,831 7,549 7,282
BRBH 205,714 99,098 106,616 1,375 676 699
ZBARR™ 109,797 53,025 56,772 717 352 365
IWmiB T 38,519 18,510 20,009 285 150 135
X Ik 57,398 27,563 29,835 373 174 199
B 4 3t T # B A B m #
B ¥ 5 -3 B 5 T
t H 1,307,748 674,733 633,015 -330,770 -172,853 -157,917
s B R 22,471 11,521 10,950 -7,640 -3,972 -3,668
BB 2,305 1,155 1,150 -930 -479 -451
Z2ARR™ 1,063 533 530 -346 -181 -165
ImiBH 519 259 260 -234 -109 -125
+ 723 363 360 -350 -189 -161
BB R OE T %
B ER
B2 & u 5 ¥ | ®mreH
t H 1,928 980 948 874
s B R 35 10 25 19
BB 1 - 1 -
ZBARR™ 1 - 1 -
ImiB 2 - - -
T g = - - -
3t 3 o B E B % %
B 4 RG22 B B | SR EEIEER
B = B & A I ® E L&D &R
% E % T
t H 20,934 10,067 10,867 3,516 2,840 676/ 620531 216,798
g B R 289 154 135 55 40 15 8,581 3,058
SRR 26 17 9 5 5 - 812 325
ZaRm 12 7 5 1 1 - 446 176
ImiB 9 7 2 3 3 - 155 48
+ g 5 3 2 1 1 - 211 101




(2) & (T2—2)

(FERR284E)
3t B FE +3 FEEATETCE *2
B &3 R[FER iEiRm| B 5
B 9 |[HaExFErE @ M E RIA I % 228 |54 R IEIRE SR
* *  |HEMEFFECTER|FFLTE LIED|FE T=| * *
* %*2 *2 5t BE

£ E 78| 105 -26| 20| 09| 210/ 101| 109 36| 29[ 07 50/ 1.73
g B 18 75| 113 -38( 24| 13| 19.1| 102 89 37 27 10| 43| 154
sResm| 67| 112 -451 07/ o00| 186 12.1 64 36| 36/ 00 39/ 158
ZRRT 65 97| -32| 14 00| 165 96 69 14| 14 o0 41| 1.60
R h 74| 135 -6.1| 00| 00| 306/ 238 68 104 104 00| 40| 1.25
T i T 6.5 126| -6.1| 00| 00| 132 79| 53 27 270 00| 37| 1.76
* EFIAOQFH *+2 FFIHEF *3 E(IHETF
<BLEOREHAE>

WA -SET - 15N - IR R =1 FRDEHE 101 BERED A O x 1,000
BEAENE=(FHROEEH 1 FRDETEH) 108 1BEEDAO x 1,000
BEERBAREER - ATRER)=FE(BR- AL B/HE (HE+IEE)E % 1,000
BERETR(FAERECE-FEHFARECE) =—LRECHGIER-BHHERFETEH) ~HAE%H x 1,000

WA EHE TR =T IR 22:8 L% D IEE S+ R HE £ RFE T30 H B (H & 5+ 1T IR %2258 L% D FEEE $0 % % 1,000
WIEHRE 2258 LAR D FEFE R = T IRiE22:8 LR DFEEE B H B (B A 30+ 0T iR 22:8 LLZ D FEEE B0 % 1,000

X EERVBEEEOHEL. EEFEBHELARME

<THHICAWLEAD>

£EOAA

IKEREDAD : Fr28E108 1 BIRAEHET AD (BHETE)
mETATOAD : FR285F10A 1 HREHFIA DO (BHKEER)

D FR28F10A 1 BREHE A D (RBEEHER)

>

e B U

N B =
125,020,252 60,866,773 64,153,479
1,985,000 963,000 1,022,000




2 H &

(1) FERFIHER-FE (T2—-3)

% 5 K19 & I Bk 20 4E SRR 21 & SRR 22 ¥ RE 23 4

£ B | EBx| E B | x| E B | Bx| E B | Fx| E B | F~«
£ E| 1,089,818 86| 1,091,156 8.7 1,070,035 85 1,071,304 85| 1050806 8.3
gk B B 17,696 8.6 17,506 8.5 17,327| 85 16,887| 8.1 16,851 8.3
& A 1,678 7.7 1,584 7.3 1,655 7.7 1,558 7.3 1,608 7.6
ZaRth 920/ 8.0 850 7.4 902 7.9 831| 74 872| 18
I B ™ 321 7.7 290 7.0 304 7.4 303 75 289 7.2
T ik T 437| 7.1 444 7.1 449 74 424 7.0 447 74

X 4 R 24 5 IR 25 & R 26 £ R 27 5 R 28 &

£ B | EBx| E B | Bx| E B | Bx| E B | Fx| E B | F~x
£ E| 1,037,231 82| 1,029.816| 82| 1003539 80| 1005677 80| 976978 7.8
i B R 16,496 8.1 16,000/ 7.9 15,138 75 15,464 7.7 14,831 75
B A 1,515 7.2 1,462 7.0 1,352 6.5 1,440 7.0 1,375 6.7
2aRT 812 7.3 771 6.9 734| 6.6 776 7.0 717| 6.5
I B 301| 7.6 326| 8.3 251 6.4 271 1.0 285 7.4
T ik T 402| 6.7 365 6.2 367| 6.3 393 6.8 373 65
* (I AOFx

HAEZEDHE(F2—1)

10.0

9.5

—— % B -E— B R A

&




(2) HEREE(T2—-4)

(R 284F)
N 1,000¢ |1,000~ 1,500~ 2,000~ 2,500g =
R 2 |& % RKith 1,500 | 2,000g K 7 |2 500k L T
£ 976,978 2,891 4,124 11,622 73,445 884,723 173
g B || 14,831 38 62 169 1,080 13,480 2
=3 A 1,375 4 8 26 124 1,213 -
ZaRm™ 717 1 3 7 67 639 -
I B T 285 3 2 8 18 254 -
T g ™ 373 - 3 11 39 320 -
(3) HFRANEAEIR (2,500gkKi#H) HEH-FE (T2—5)
% 2 E 19 & I R 20 £ E R 2145 E R 22 £ ¥ Y 23 £
£ # B £ B £ Hx £ ¥ £ ¥
e 105,164 9.8| 104,479 9.6/ 102,671 9.6/ 103,049 9.6/ 100,378 9.6
g B B 1,611 9.3 1,616 9.2 1,622 9.4 1,569 9.3 1,627 9.7
= A 140 10.4 161 10.2 180 10.9 155 9.9 154 9.6
Z2AR™ 78 10.0 87 10.2 114 12.6 80 9.6 81 9.3
I B ™ 25 11.1 26 9.0 31 10.2 24 7.9 28 9.7
T Ik 37 105 48 10.8 35 7.8 51 12.0 45 10.1
R 4 IR 24 & R} 25 £ SRR 26 £ R 27 & I pR 28 £
£ # Hx £ B £ Hx R Hx £ B
e 99,311 9.6/ 98,624 9.6/ 95,768 9.5/ 95,206 95| 92,082 9.4
gk B B 1,575 9.5 1,496 9.4 1,322 8.7 1,402 9.1 1,349 9.1
= A 165 10.9 157 10.7 124 9.2 150 10.4 162 11.8
Z2aRm 97 11.9 80 10.4 71 9.7 81 10.4 78 10.9
I B ™ 29 9.6 37 11.3 18 7.2 21 7.7 31 10.9
T & 39 9.7 40 11.0 35 9.5 48 12.2 53 14.2
* FE[I% (HEBX)
* FER7EICIEGRERIIN2,500¢LTORIMSM2,500eKFBDRIEEBEINT-,




(4) BOFRANHERK(T2—6—1)

(FR284E)
K 9 | 158 Kilhi | 15~198% | 20~248% | 25~29&& | 30~34% | 35~39%% | 40~44%E | 45~498 | 50mELIL e &t
& =l 46 11,049 82,169 250,639 354,911 223,287 53,474 1,350 51 2 976,978
g B R - 159 1,229 4,176 5,492 3,072 687 16 - - 14,831
=i A - 19 122 374 511 290 57 2 — — 1,375
ZHREREM - 12 57 191 281 146 30 - - - 717
I B T - 3 28 75 108 63 7 1 - - 285
T & h - 4 37 108 122 81 20 1 - - 373
A RBRBICETBOERERHEST
(5) FEEHANZFAO -G FERHEE(T2—6—2)
(FRE284)
Lkl
X 4% 15~198% | 20~24%% | 25~29%% | 30~348% | 35~39%F | 40~44i% | 45~49% 4
2 E| 2892993 2871672 3,001,820 3,456,437| 3,895736| 4,696,300 4,502,082 1.44
i B R 49,000 43,000 42,000 49,000 57,000 71,000 69,000 1.54
B A 5,148 4,747 4,578 4,891 5718 7,036 7,272 1.37
2AaR™ 2,739 2,482 2414 2,695 3,090 3,849 4,057 1.33
I B 1,096 983 880 907 1,066 1,190 1,319 1.51
i& ] 1,313 1,282 1,284 1,289 1,562 1,997 1,896 1.37
H
2E BEEHHBRIEHEGCRER) . B AO-BRAAO (FER28510A1BERE)
B RBELEHHBRIER GHER) . B AD-BRAAD (ER284E10A1HIRT) |
i1 BEERITETHA R - i (B8 - B A0 (ER28510A 1 HERE) |
(E®)
O£ERUVBEERDEHBHRHER L, EEFEBELRE,
AHERHEROFHICE. ZERVREFEZINOZEOBERAAD,
TEXSEERANDZEDRAOZEA,
OHHBIZAW-HEBD ISR RVIORICEFAEFNI4BLUT. 0L LEET,
(6) ATiEiRAitE il - EiRBRIOBHEH(T2—6—3)
(CER284EEE)
X 4 B #® TETELIET | #e~118 | W12~158 | F16~198 | #20-21:8 T
“w % 245 162 82 1 - - -
20 ki 22 17 5 - - - -
20~24 29 25 4 - - - -
25~29 38 24 14 - - - -
30~34 48 31 16 1 - - -
35~39 51 41 10 - - - -
40~44 44 20 24 - - - -
45~49 11 8 - - - -
50m Ll £ 1 - 1 - - - -
r B 1 1 - - - - -




3% T

(1) FERMFECTH-E (T2-7)

B 4 ¥ 19 £ ¥ BE 20 £ ¥ R 21 £ ¥ Rk 22 £ ¥ RE 23 &

R ¥ | Ex| R OB | Bx| B OB | Bx| E OB | Bx| E ¥ | Ex
2 = 1,108,334| 8.8 1,142,407| 9.1| 1,141,865 9.1 1,197,012 95| 1,253,066 9.9
Iz B8] 18,910 9.2 19,478 9.5 19,402 9.5 20,220| 9.7 21,053| 10.3
g N 1,969 9.0 2,013 9.3 1,980 9.2 2,038| 95 2,004 9.9
ZRR™H 873| 7.6 945 8.3 910/ 8.0 988| 8.8 977| 8.7
BT 428| 103 390 94 427| 10.4 413| 10.2 451 11.3
T &k W 668 109 678| 11.1 643| 10.6 637| 105 666| 11.1
% a F R 24 & F gk 25 & SERR 26 £ SRR 27 & T RY 28 &

£ ¥ | Ex| R OB | Bx| B O | Bx| E OB | Bx| E OB O| EBx
2 HF 1,256,359| 10.0| 1,268.436| 10.1| 1,273,004/ 10.1| 1,290,444 10.3| 1,307,748 10.5
ik B ] 21,531| 10.6 21,518| 10.7 21,658| 10.8 21,996| 11.0 22,471 11.3
T N 2,162| 10.3 2,173 104 2211 106 2,230 10.8 2,305 11.2
ZARR™ 1,004| 9.0 1,016| 9.1 1,044 95 1,070 9.7 1,063| 9.7
BETH 459| 11.6 430| 10.9 471 12.1 456| 11.8 519 135
Tk h 699 11.7 727| 12.3 696 11.9 704 12.2 723| 12.6
* E(FIAQFxt
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(2) TEFEFEMNFECTH-E-BH-BLH (T2-8)

<> (FER284F)
. R =
5 o5 @M = 05 A fei m & &= & i & B(BoEEERS)
<HETH M (Fi8) P H I (F48) i (F18) 2L HEE T DD Ml K A (F48)
=2 ™ Fx (xEsex E B Fx ERGe+ B B | T x (ZEMHE | FE H | Fx (zune F B | Bx zm0e« B M| Fx ZE0e+ B B | L+ [ZE0a+F | T x [ZEHe+E | Fx [ZEHL =«
£ [E| 1,307,748|1,046.0 100( 372,986 298.3 28.5| 109,320| 87.4 8.4 12,318 9.9 0.9 31,975| 25.6 24| 62,277 49.8 48| 198,006/ 1584 15.1( 35,926 28.7 2.7 34,534 27.6 2.6
I B IF 22,47111,132.0 100 6,049| 304.7 26.9 1,892 95.3 8.4 228 115 1.0 546 27.5 24| 1,087 54.8 438 3,477 175.2 15.5 784 39.5 3.5 323 16.3 1.4
g W 2,305|1,120.5 100 626 304.3 27.2 166| 80.7 1.2 14 6.8 0.6 50| 243 2.2 101 491 44 350( 170.1 15.2 107 52.0 4.6 22 10.7 1.0
ZAaR™ 1,063| 968.2 100 314| 286.0 29.5 64| 583 6.0 6 55 0.6 22| 20.0 2.1 36 328 3.4 156 142.1 14.7 49| 446 4.6 13 11.8 1.2
I ] 519|1,347.4 100 113| 2934 21.8 50| 129.8 9.6 4 104 0.8 15| 38.9 2.9 31 80.5 6.0 82 212.9 15.8 24| 623 4.6 3 7.8 0.6
T g 723(1,259.6 100 199| 346.7 27.5 52| 90.6 1.2 4 7.0 0.6 13| 22.6 1.8 34| 59.2 47 112] 195.1 15.5 34| 59.2 4.7 6 10.5 0.8
R 4 fii 3% TERDEHR 2 = B ® F % &8 R - "R = w &
£ ¥ K+ (Ezex FE s+ |ERBE B B | Ex EHG+ T M | Fx (zEnex F | Bx (mmwe« 2 B | Tx |xEse+ E ¥ | Ex (mEme« E | T x |EEme
£ = 119,300 95.4 9.1 38,306 30.6 29| 92,806| 74.2 71 21,017 16.8 1.6 15,773 12.6 1.2| 24,612 19.7 1.9 13,480 10.8 1.0 1,892 1.5 0.1
Iz B ] 1,938 97.6 8.6 797 40.2 3.5 1,911 96.3 8.5 347| 175 1.5 238 12.0 1.1 429 21.6 1.9 174 8.8 0.8 40 2.0 0.2
g N 150 72.9 6.5 76 36.9 3.3 282( 137.1 12.2 35 17.0 1.5 23| 11.2 1.0 43 20.9 1.9 13 6.3 0.6 6 2.9 0.3
ZaRh 69 62.8 6.5 38 34.6 3.6 117| 106.6 11.0 15| 13.7 1.4 11] 10.0 1.0 13 11.8 1.2 6 5.5 0.6 2 1.8 0.2
miB ™ 30 71.9 5.8 15 38.9 2.9 77( 199.9 14.8 12| 31.2 2.3 4] 104 0.8 10 26.0 1.9 4 10.4 0.8 2 5.2 0.4
T g 51 88.9 7.1 23 40.1 3.2 88| 153.3 12.2 8| 13.9 1.1 8 13.9 1.1 20 34.8 2.8 3 5.2 0.4 2 3.5 0.3
* B AO10BFAHBYORTEHE (ZERVRORZIEEHTBEARIE)
* SEEBE BRI HEEZNDOEE
<EBE> (FEpi284F)
. R =
5 o5 @M = 05 A fei m & &= & i & B(BIEEERS)
<HETH M (FS) RPN H f (F48) MiEE (FR) 2D HEE E DD Mt E(FB)
2 ¥ Fx (x@Esax] E Ex ERAa+ B B | Fx (ZEe+ B B | Bx (zaue+ B B | T zEne« B | Fx ZEne+ E ¥ | Fx [zE0a+ K H| T+ (Z@sex+E | Fx [ZE8s
£ =H 674,733]|1,108.5 100( 219,785 361.1 32.6( 52,706| 86.6 7.8 4,556 1.5 0.7 17,538 2838 2.6( 29,384| 483 44| 93419| 153.5 13.8| 20,470 33.6 3.0( 19,959 32.8 3.0
gz B IR 11,521(1,196.4 100 3,545| 368.1 30.8 877| 91.1 1.6 79 8.2 0.7 282 29.3 2.4 500 51.9 43 1,649 171.2 14.3 445| 46.2 3.9 192 19.9 1.7
T K 1,155(1,165.5 100 386 389.5 33.4 78| 78.7 6.8 5 5.0 04 21| 21.2 1.8 51 515 44 155| 156.4 13.4 60( 60.5 5.2 13 13.1 1.1
ZHR™H 533|1,005.2 100 194 365.9 36.4 33| 62.2 6.2 3 5.7 0.6 12| 22.6 2.3 18 33.9 3.4 64| 120.7 12.0 25 471 47 9 17.0 1.7
I ] 259|1,399.2 100 74 399.8 28.6 21| 113.5 8.1 2| 108 0.8 3| 16.2 1.2 16 86.4 6.2 42| 226.9 16.2 13 70.2 5.0 2 10.8 0.8
T g 363|1,317.0 100 118| 428.1 32.5 24| 87.1 6.6 - 0.0 0.0 6| 21.8 1.7 17 61.7 47 49| 1717.8 13.5 22 79.8 6.1 2 7.3 0.6
R 4 fii 3% TERDODEH 2 = B ® F & & T F 2 "R = w &
£ H Fx (xE@se+] E ¥ Fx ERGL+ B B | T ZESHE | T N | Fx |zmne« B M | B+ [ze0e« R | Fx zE0a+ T ¥ | FLx (ZE0a+ K B| FEx (zE#L»
£ = 65,636| 107.8 9.7 22,066 36.3 3.3| 23,077 37.9 3.4 14,639| 24.1 22 10,112 16.6 1.5 12,231 20.1 1.8 7,243 11.9 1.1] 1,133 1.9 0.2
I B If 1,074 1115 9.3 446 46.3 3.9 518 53.8 45 243| 25.2 21 146| 15.2 1.3 228 23.7 2.0 85 8.8 0.7 22 2.3 0.2
g N 17 11.7 6.7 38 38.3 3.3 80| 80.7 6.9 23| 23.2 2.0 14| 1441 1.2 23 23.2 2.0 6 6.1 0.5 3 3.0 0.3
Z2aRH 33 62.2 6.2 17 32.1 3.2 36| 67.9 6.8 10 18.9 1.9 6] 11.3 1.1 7 13.2 1.3 3 5.7 0.6 1 1.9 0.2
RiB ™ 18 97.2 6.9 10 54.0 3.9 22| 118.9 8.5 7] 37.8 2.7 3| 16.2 1.2 4 21.6 1.5 2 10.8 0.8 1 5 0.4
T g 26 94.3 7.2 11 39.9 3.0 22| 79.8 6.1 6| 21.8 1.7 5 18.1 1.4 12| 435 3.3 1 3.6 0.3 1 4 0.3
* B: ADM0FAHEYORCHAE(ZERVROERIELEFHEHELKRIE)
* JERBE  BRIHTHIEERANDOEE
<&> (E 28 %)
o R .
N ST @ E 5 i I & & B i & B(EmEEZERO
<HETH M (FES) fixi Pt i (5 48) i (F1) SHELHEE F DO R il R (F8)
£ x mEsex £ x ZEae+ B B | Fx (ZEe+ B H | Bx (zaue+ E B | Bx zEne« B M| Fx z@0e+ E B | Fx [z50s+E | Fx [Z@8e+E | T x [ZE#L
£ =H 633,015| 986.7 100| 153,201 238.8 242| 56,614 88.2 8.9 7,762 12.1 1.2 14,437 225 2.3( 32,893 51.3 5.2| 104,587 163.0 16.5( 15,456 24 1 2.4|1 14,575 22.7 2.3
gz B IR 10,950(1,071.4 100 2,504| 2450 22.9 1,015( 993 9.3 149| 146 1.4 264 25.8 24 587 57.4 54 1,828 178.9 16.7 339 33.2 3.1 131 12.8 1.2
T K 1,150( 1,078.6 100 240( 225.1 20.9 88| 825 1.7 9 8.4 0.8 29| 27.2 2.5 50| 46.9 43 195| 182.9 17.0 47| 441 4.1 9 8.4 0.8
ZAaR™ 530| 933.6 100 120 2114 22.6 31| 54.6 5.8 3 53 0.6 10| 17.6 1.9 18 31.7 34 92| 162.1 17.4 24 423 45 4 70 0.8
In R 260(1,299.4 100 39| 1949 15.0 29| 144.9 11.2 2| 100 0.8 12| 60.0 4.6 15 75.0 5.8 40| 199.9 15.4 11 55.0 4.2 1 5.0 04
T gk 360 1,206.6 100 81| 2715 22.5 28| 93.8 7.8 4 134 1.1 7 235 1.9 17 57.0 47 63 211.2 17.5 12| 40.2 3.3 4 13.4 1.1
R 4 fi 3% TRDODEH z2 = B ® F & & B F 2 B R R I
E K+ (mEBex E s+ |ERGe B B | Bx ZEHG+ F ¥ | Fx (zEnex F B | Bx (zmne« 2 B | Bx |ZEMe+ E ¥ | L x (ZEns E | FTx |[EE0a
£ = 53,664 83.6 8.5| 16,240 25.3 26| 69,729| 108.7 11.0 6,378 9.9 1.0 5,661 8.8 0.9( 12,381 19.3 20 6,237 9.7 1.0 759 1.2 0.1
I B 1] 864 84.5 7.9 351 343 3.2 1,393( 136.3 12.7 104| 10.2 0.9 92 9.0 0.8 201 19.7 1.8 89 8.7 0.8 18 1.8 0.2
g N 73 68.5 6.3 38 35.6 3.3 202( 189.5 17.6 12| 113 1.0 9 8.4 0.8 20 18.8 1.7 7 6.6 0.6 3 2.8 0.3
ZAaR™ 36 63.4 6.8 21 37.0 4.0 81| 142.7 15.3 5 8.8 0.9 5 8.8 0.9 6 10.6 1.1 3 5.3 0.6 1 1.8 0.2
IRiB ™ 12 60.0 4.6 5 25.0 1.9 55| 274.9 21.2 5/ 25.0 1.9 1 5.0 0.4 6 30.0 2.3 2 10.0 0.8 1 5 0.4
T g 25 83.8 6.9 12 40.2 3.3 66| 221.2 18.3 2 6.7 0.6 3| 10.1 0.8 8 26.8 2.2 2 6.7 0.6 1 3.4 0.3

* B:AO0AAHEYORCHS (ZERVRORIEEFHBEARKE)
* SEEBS BBICHTIREEINDES




(3) FEER-1%-FmEHRANFECH(T2—9 ER)

BT A7

(ERL284)

1% | 1| 5|10 15[20] 253 |3 |4 | 45|50 | 55| 60| 65| 70| 75| 80 o5+

2 2R ~ ~l~]~|[~]~|~|~|~|~|~|~|~|~|~|~|~|pE
Kb 4k | On% | 1455 [ 108% | 24i% [ 208% | 34i% | 308% | 445% | 495% | 545% | 594% | 643% | 695% [ 745% | 795% [ 84a%

B 2,305 1 1 1 1l 21 4 3 7| 11| 17| 27| 62| 96| 127| 195 282| 403| 1,062

exrks (B 1155 | - - 1 1l 3] 2 3 s 10/ 13 16| 43| 56| 93| 140| 189 211| 369

#| 1,150 1 1 1 O 1 1l -1 2| 1| 4 11| 19| 40| 34| 55 93| 192| 693

e 17700 1| -] 1 1 1l 3] 1| 3 7| 6| 14 20| 54| 80| 100| 144| 218| 316 800

rEwEes 5| s3] | | | 1 2l 1 3 5| 5| 10| 12| 36| 46| 73| 104| 145| 166| 273

| 887\ 1| -| 1| - - 1| -| -| 2| 1| 4] 8 18] 34| 27| 40 73| 150 527

e el - -| 1l -| - - -| 1| 4 1| 2| 10| 25| 55 57| 79| 106 128 157

EMsaEm | B) 38 -| - - - - - -| 1| 2 -| 1| 4| 18| 31| 45 57| 73| 78] 76

| 240 -| - 1| - -| - -| - 2 1 1| 6] 7| 24| 12| 22| 33| 50/ 81

e 16| - -1 -| - - -1 - -1 - -| 1| 2 5| 3 9] 9| 23 40 74

RnExE | B . - - -1 - -1 - -1 - - - 1 1 1 1l 5/ 7[ 18] 18] 26

= 88| - -| -| - - - - -1 -l - - 1| 4 2| 4 2| 5| 221 48

<BET e 14 - -1 - - - - - -1 - - -l - 2 2 2f 1| 2f 1 4

H om |58 s - -| - -| - -1 - - - - - - -] 1 1 1 2 - -

(B | % a - - - - - -1 - - - - - - 2 1 1l -1 - 1 4

iaHmpges 50 - - -| -| -| - - -| - -| 1 2| 38 -| 3 4 6| 16 15

8 211 - - - - - - - - - -] 1 1 1| -1 - 4 3 4

(1) | % 2 - - - - - - - - - - -| 1| 2 - 3 -| 3 9 11

& 'l 1w - - - - - -1 - -1 - -1 - - -| 1| 38 4 15| 23] 55

2} sty -| - - - - - - - - - - - - - 3 2 13 11 22

(B1) | % sop -| - - - - - - - - - -| - - 1| - 2 2 12| 33

e 3500 | - -] - 1 -l -1 -| -| 2| 4 1| 14 7| 12| 30| 42| 62| 175

o & B (8] 5\ - -| - - 1 -| - - -| 2| 4 1| 1o 71 7| 19| 22 30| 52
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14| 19| 24| 29| 34| 39| 44| 49| 54| 59| 64 69 74 79| 84| Lkt
Wi | 113 - - - - - - - - - - 3 g 10| 13| 15| 22| 11| 31
%t'&“é%% B 74 - - - - - - - - - - 2 6 3 11 18] 11 6| 22
g i 39 - - - - - - - - - - 1 2 7 2 2 11 5 9
B 7 - - - - - - - - - - - 1 1 3 1 1 - -
BE Bt 7 - - - - - - - - - - - 1 1 3 1 1 - -
gk - - - - - - - - - - - - - - - - - - -
B 17 - - - - - - - - - - - - 2 2 1 4 2 6
B Bt 11 - - - - - - - - - - - - 1 2 1 2 1 4
i 6 - - - - - - - - - - - - 1 - - 2 1 2
B 13 - - - - - - - - - - 1 - 3 - 3 2 1 3
] B 8 - - - - - - - - - - 1 - 1 - 2 1 1 2
i 5 - - - - - - - - - - - - 2 - 1 1 - 1
B 5 - - - - - - - - - - - 1 - 2 - - 1 1
Egﬂg-s’lﬁ Bt 2 - - - - - - - - - - - - - 1 - - - 1
i 3 - - - - - - - - - - - 1 - 1 - - 1 -
B 5 - - - - - - - - - - - 1 1 1 1 - - 1
ﬂpﬁ%gﬁ B 3 - - - - - - - - - - - 1 - - 1 - - 1
3 o3 2 - - - - - - - - - - - - 1 1 - - - -
B 12 - - - - - - - - - - - 1 - 1 3 2 2 3
& Bt 9 - - - - - - - - - - - 1 - 1 3 1 1 2
Iy -3 3 - - - - - - - - - - - - - - - 1 1 1
g, o | BM 23 - - - - - - - - - - - 2 2 2 5 5 3 4
X R | B 19 - - - - - - - - - - - 2 - 2 5 3 3 4
5 Ul i 4 - - - - - - - - - - - - 2 - - 2 - -
B 4 - - - - - - - - - - - - - 1 - 1 - 2
BIALAR | B 4 - - - - - - - - - - - - - 1 - 1 - 2
i
B 3 - - - - - - - - - - - - - - - 1 1 1
AE B = - - - - - - - - - - - - - - - - - -
i 3 - - - - - - - - - - - - - - - 1 1 1
wBH# 3 - - - - - - - - - - 1 - 1 - - - - 1
FE Bt
-g i 3 - - - - - - - - - - 1 - 1 - - - - 1
e T T T T T e T e T e e T e T O | O
IS B
it " - - - - - - -4 -1 -1 -1 -1 -1 -1 -1 -1 1 - -
7Y 3 - - - - - - - - - - - - - - - 2 - 1
B | B - - - - - - - - - - - - - - - - - - -
g i 3 - - - - - - - - - - - - - - - 2 - 1
B 17 - - - - - - - - - - 1 2 - 1 1 3 1 8
TOH | Bt 11 - - - - - - - - - - 1 1 - 1 = 2 = 6
i 6 - - - - - - - - - - - 1 - - 1 1 1 2




(4) (BROLLAIEMEFTEY il - FinbE R TR

(i) (S RR284F)
3 i
x4 @ | 1~4|5~0|10~ |15~ |20~ |25~ |30~ |35~ |40~ |45~ |50~ |55~ |60~ |65~ |70~ |75~ |80~ |85~
14| 19| 24| 29| 34| 39| 44| 49| 54| 59| 64| 69| 74 79| 84| kLt
| 199 - = = = = = = 2 = = 6 8| 13| 16| 28 32| 51| 43
%tggﬁ'&j% S| 118 - - - - - - - 1 - - 2 5 8| 15| 21| 23 30 13
i 81 - - - - - - - 1 - - 4 3 5 1 7 9] 21| 30
B 3 - - - - - - - - - - - - - 1 1 - 1 -
BE 2 3 - - - - - - - - - - - - - 1 1 - 1 -
Eog k3 - - - - - - - - - - - - - - - - - - -
Y 22 - - - - - - - - - - - - 3 1 3 6 6 3
B i 14 - - - - - - - - - - - - 2 1 3 4 3 1
g ;-3 8 - - - - - - - - - - - - 1 - - 2 3 2
B 20 - - - - - - - - - - 1 1 - 3 2 1 5 7
5 B¢ 11 - - - - - - - - - - 1 - - 3 2 1 3 1
i 9 - - - - - - - - - - - 1 - - - - 2 6
% 14 - - - - - - - - - - 1 1 1 2 3 2 2 2
Egg-salﬁ gl 1o - - - - -1 -1 - - - - 1 1 - 1 3 1 2 1
g ;-3 4 - - - - - - - - - - - - 1 1 - 1 - 1
R 10 - - - - - - - - - - - - - - 3 3 4 -
L T e R e B e e I I
a7 i 6 - - - - - - - - - - - - - - - 2 4 -
% 18 - - - - - - - - - - - 1 1 2 2 5 2 5
-3 Bt 11 - - - - - - - - - - - - - 2 2 5 - 2
I p-g i3 7 - - - - - - - - - - - 1 1 - - - 2 3
. o | BY 44 - - - - - - - - - - - 2 2 3 9 6| 15 7
EX R | B 32 - - - - - - - - - - - 2 2 3 7 6| 10 2
51 Ui g i 12 - - - - - - - - - - - - - - 2 - 5 5
% 4 - - - - - - - - - - - - - 1 - 1 1 1
AIAAR | B 4 - - - - - - - - - - - - - 1 - 1 1 1
g k3
e 7 - - - - = = = = = = 2 = = = 1 - 1 3
AE B = - - - - - - - - - - - - - - - - - -
Tt 7 - - - - - - - - - - 2 - - - 1 - 1 3
Wi 4 - - - - - - - 1 - - 1 1 1 - - - - -
FE B
283 4 - - - - - - - 1 - - 1 1 1 - - - - -
ik 3 - - - - - - - - - - - - - - 1 2 - -
B B
g i3 3 - - - - - - - - - - - - - - 1 2 - -
wH - - - - - - - - - - - - - - - - - - -
A& | Bt - - - - - - - - - - - - - - - - - - -
it - - - - - - - - - - - - - - - - - - -
e 50 - - - - = = = 1 = = 1 2 5 3 3 6| 14| 15
T | B 29 - - = S S S = 1 = = = 2 4 3 - 4 10 5
it 21 - S - - - - S S S S 1 S 1 S 3 2 4 10




(5) FRAFETIHL(T2—11)

X 4 TR 19 &£ I R 20 £ IR 21 & IR 22 & R 23 &
3t Ex | 3 Ex | 3 Ex | 3 Hx 3E Hx
TG | BMEFEY| 2661 | BHEFEY| 2666 BEFEY| 273.8| BHEFEY| 275.1| BEHEY| 284.1
i | 2461 | iDER 155.3| IMKE 1589 1DKE 150.8| 1IMER 162.8| I&EE 177.7
B | 36 [mERSB| 1014 RMERB| 982|MMmERKEE| 983 RMmELRB| 102.3| BmELRSB| 100.0
B | &4t il % 92.7| Fh#k 88.6| [m#k 84.8| % 94.1 B % 98.9
B5H | AEDBH| 74| FEDBH| 434 EE 412 2T 529| E= 58.3
F6L [ BETEW| 2715 BEHEY| 286.7| BiEHEY| 289.6) BiEFEW| 268.0| BikFEY| 2818
| Eehr | KA 1275| &S 138.3| IDHEHE 1302 iLEE 137.7] &= 154.1
F |RMmERS| 1043 RMEKESB| 963|RMEKSB| 930|RMEKEB| 942(RmMEKRB| 895
| T4 fifi #¢ 79.0] Bh#k 68.2| %k 79.6] Bhi#% 84.3 iz 78.2
E5hHL =k 00| FENDEHK| 452 EE 4716| ET 63.7] EE 64.1
R 4 TR 24 £ R 25 & 3 RX 26 £ IR 27 & R 28 &
4 HEx 4 HEx 3t HEx It HEx 3E )
FT6L | BMEFEY| 2860 BHEFEY| 299.0| BEFEY| 299.7| BUEFEY| 3040 BlEHEY| 3047
g | 261 | DEE 180.2| IMVEE 1738 &R 175.0| IMESB 175.0| &S 175.2
B | 34 |NmEHESB| 99.7|RMEKSB| 95.9|RMEKEE| 965 fhik 96.5| ffiz 97.6
R | 846 fifi #¢ 955 ffid 91.8| fhi% 946 NMEHKRSE| 946 EE 96.3
E54L = 669 EE 789 EE 759 EE 75.9| BdMERRE| 95.3
AL | EEFEY| 2813 BEHEW| 308.9| BiEF4EY| 306.8| Bt E| 306.8| BiEFEY| 3043
| F26L | KR 1760 IMVER 1609 VKRB 1746 1IMER 174.6| 1IMVERE 170.1
3L | HMEEB| 911 |NMEEB| 893|RMEERE| 890 =2E 890 === 137.1
W | EahL fili % 759 EE 812 = 84.2|fMMEHEE| 84.2|RimEHEE| 807
54 EE 67.8] i 70.2|  fli% 69.3| Hhi% 69.3] Bz 72.9

* FEFIAA10HG%

FTEFREES (02-1) TR 284F

iz B IR

BEHFEY




4 3LRET
(1) ERAIARETHE -ZE (T2—12)

N FER19E K205 TR214E SRR 224F SERK2345

E | #Ex | F | Fsx | E B | Ex | EH| FEsx | E B[ OEx
2 H 2,828 26| 2,798 26| 2556 24| 2450 23| 2463 2.3
i B2 1R 43 2.4 58 3.3 38 2.2 41 2.4 49 29
g A 4 2.4 5 3.2 3 1.8 4 2.6 4 2.6
ZARRT - - 2 2.4 1 1.1 1 1.2 1 1.2
WB™ 2 6.2 3 10.3 2 6.6 - - - -
T igh 2 20 - - - - 3 7.1 3 7.1
K 4 FEri24%5 254 F 264 FR2745 TFRi284F

E B | #x [ K B | FEx | R | Bx | K B | Fx | K B[ FEx
2 H 2,299 22| 2185 21| 2,080 21| 1,916 19/ 1,928 2.0
gy B IR 27 1.6 40 25 37 2.4 30 19 35 2.4
g A 1 0.7 4 2.7 3 2.2 1 0.7 1 0.7
ZaRt - - 2 2.6 1 1.4 1 1.3 1 14
HRH 1 3.3 - - 1 40 - - - 0.0
T igh - - 2 5.5 1 2.7 - - - 0.0
* EIIHEF

FLRFETERDHER (F2-3)

—— 45 F
B E
—-— &N
-3
(2) BEFEEFNZIRFETCH (T2—13)
— _ (FE R 284F)
X % EER | H§ A m B & 4
# o 35 1|Z2BRF
£ X F ®E -
BESICREL-RE —
FL%0 RSB AT IR EE -
Z [} fth 35 1|ZRRH
(3) MER, PBERUVELCLIICEDFETH(T2—14)
K5 2 EH|[EBEER|E R B & £
L1945 39 2 -
ER204E 41 2 -
SER215 61 2 -
T Rk224F 49 - -
T RE234F 43 - -
T Rk244F 50 - -
k2545 41 - -
ERL264F 33 1 -
TRE274 44 0 -
k285 36 0




5 3 &E
(1) FERFNFEEH-F (T2—15)

BB Fx | BR[NNI B || BR|ANIT | BBH|[ExI BRI AT
£ H 29313| 26.2| 13,107 16,206 28,177| 25.2| 12,625 15552| 27,005 24.6] 12,214] 14,791
Ik B ] 430 23.7 189 241 388| 21.7 175 213 358 20.2 186 172
T K 371 216 15 22 38| 234 18 20 40 23.6 19 21
E2-0 il 24| 254 10 14 24 275 8 16 22| 23.8 9 13
ImiB 5 15.3 1 4 8| 26.8 6 2 9| 288 4 5
T ik 8| 18.0 4 4 6| 13.3 4 2 9 19.7 6 3
X 4 F B 22 & F R 23 & F 24 &
BB Fx | B R[(ANTIT(# 8 || BRI AT | B | EXI BRI AT
£ H 26,560] 24.2| 12,245 14,315 25,751| 23.9| 11,940 13,811 24800 23.4| 11,448 13,352
iz B 1§ 382| 22.1 171 211 337| 19.6 149 188 355| 21.1 177 178
T K 35 220 14 21 24| 14.7 7 17 36| 23.2 22 14
E2= Al 23] 269 10 13 15[ 16.9 6 9 23| 275 16 7
BT 2| 6.6 2 - 5( 17.0 1 4 5 16.3 2 3
+ i 10 23.0 2 8 4] 89 - 4 8| 195 4 4
X 4 E Rk 25 & E B 26 & E R 27 &
BHE|Ex | BRI AIT| BE [ E(BRIAIT |  LBE[E=(BR| AT
£ H 24,102 229 10938| 13,164| 23524 229| 10,905 12,619 22,617 22.0| 10862| 11,755
Iy B 82 311 19.1 141 170 313| 20.3 144 169 320| 20.3 148 172
T W 24| 16.2 11 13 36 25.9 16 20 32| 21.7 20 12
ZARRT 11 1441 5 6 24| 31.7 10 14 18] 22.7 12 6
HREBH 6] 18.1 4 2 6| 23.3 2 4 5 18.1 3 2
1 g 7] 188 2 5 6| 16.1 4 2 9| 224 5 4
X RR 28 4
R P g R & B A[AT
£ H 20,934| 21.0| 10,067 10,867
I B ] 289| 19.1 154 135
& N 26| 18.6 17 9
ZRaR™T 12| 165 7 5
R R T 9] 306 7 2
+ i 5| 13.2 3 2
X (LT 5
HAPE 50t SEEREDHEFE (F2-4)
300 -
250
200 -
150 - — | B 182
—— 5
100 - Clle
50 -
0.0 ‘
19 20 21 22 23 24 25 26 27 28 =




6 IEIRLRENE

(1) FRABERK - (T2—-16)

B 4 IR 19 £ SRR 20 £ E RE 21 & SRR 22 SE RE 23 £
E B | Bx| B | Bx| EH | Ex| EB | Ex| EH | Ex
2 = 719,822| 57| 726,106 58 707,734 56| 700,214 54| 661,895 5.2
i & R 10,687| 5.2 10919 53 10,364| 5.1 10,087| 438 9,647| 47
T W 1,013 49 986 45 962 4.4 924| 43 840 4.0
ZaRm 546 5.0 555| 48 503| 44 475 4.2 451 40
iR 190 45 176] 43 188 4.6 165 4.1 165 4.1
ol A 277 5.1 255 4.2 271| 45 284 47 224 37
B 4 SRR 24 £ I RR 25 £ SRR 26 £ F RE 27 S RE 28 &
E R | EBx| RE | Bx| R¥ | Ex| REH | Ex| RH | Ex
£ H 668,869| 53| 660613 53| 643,749 51| 635156 51| 620,531 5.0
I B IR 9,521 4.7 9,492| 47 9,071 45 8,859 4.4 8,581 4.3
T W 873 4.1 878 4.2 840 40 866 4.2 812 3.9
ZaRtm 459 4.1 479 43 448 4.1 433 39 446 4.1
BT 194 49 181 46 154 40 189 49 155| 4.0
ol A 220 3.7 218 3.7 238 4.1 244 4.2 211 3.7
* FE(IAOFH
(2) ERABBER-E (T2—-17)
B 4 T R19F R 20 F T R21 5 SRR 22 S RE 23 £
EH | Ex| EH | Ex| Y, | Ex| EH | Ex| EH | Ex
2 H 254832 20| 251,136 2.0 253353| 20| 251,378 1.99| 235719 1.87
i B R 3,560 1.7 3413 16 3534 1.7 3,395 1.66 3,385| 1.66
T N 346 1.6 331l 15 365 1.7 328 1.54 351 1.65
ZaRm 192 1.7 174 15 194 17 165| 1.47 200 1.79
B 62 15 700 1.7 64| 16 60[ 1.49 54 1.35
T i 92 15 87| 1.4 107| 1.8 103| 1.70 97( 1.61
B 4 SRR 24 £ S RE 25 S RE 26 & S RE 27 S RE 28 £
EH | Ex| EH | Ex| Y, | Ex| EH | Ex| EH | Ex
2 H 235,406 1.87| 231.383 1.84| 222,107| 1.77| 226,215 1.81| 216,798 1.73
i B ] 3,306 1.63 3,227| 1.60 3,182| 1.58 3,182| 1.56 3,058| 1.54
T W 296 1.40 320 153 308 1.48 292| 1.41 325 1.58
ZaRm 162| 1.45 190 1.71 167| 1.51 170| 154 176| 1.60
B 57| 1.44 471 1.19 57| 1.46 40| 1.03 48| 1.25
T i 77| 1.29 83 1.41 84| 1.43 82| 1.42 101 1.76

* FE(FAOFx




